AEAERITERTH

" REHR

= AT X

= fhEA X

= ERAMK

= EEHR

= EieshX

= TAEHX

= =\

WXATEIS

HEMK, 115,361,121.0 FH,

=/\#h[X, 168,749,820.0 FH,
25%

17%
Fath X, 28,602,458.0 F
M, 4%

(

kX, 75,178,269.0 FH,

, " 11%

FEMRK, 21,102,837.0 FH,
3%

Tat#hX, 35,643,349.0 FH,

5%
tibih[X, 184,844,900.0 FH, -

27%

JdE#K, 52,252,701.0 FH,
8%



Ho [ 7 EEARES A ZE

HEMK, 146,218,320.0 M,
15%

=/\#[X, 251,317,620.0 M,
26%

P A, 62,421,600.0 M,
6%

Bk X, 93,742,450.0 M,
10%

TAL#bX, 68,285,560.0 M, 7%

\

2K, 43,837,720.0 M, 4%
l F
LRI, 89,291,780.0 F, 9%

LieHhX, 228,997,310.0 A,
23%

THEHIHIHTEMBARE
(FHE)

2.500

2.182
2.077

2.000 1.916

1.709
1.489
1.500
1.267 1.247 1239
1.000
0.500
0.000

REHK [izf: g1 P Hahih X MREBX R X fak(4::1"3 T X =\



